Bilanciare le seguenti eguazioni:
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SnCl; + Na,CO; + H,0 —— Sn{OH). + NaC| + CO,
Ale; +NaOH + H,.Q0 —— Nﬂ[A](OH).]

CaF; + Si0, + H,S0, —— CaSO, + SiF, + H;0
AgNO; + NaHS + NaOH —— Ag;S+ NaNO. + H,0
Cﬂs(PO;); - H; POq ———p C&(H) POd}J

KiAsO, + H;S — K\ASS.. + H;O

TiF: + H.S0QO, —— SO; + HF + TIO,

{NH;)'}U:O? +H, O+ Na:CO; — N&a{UOz(COJ )Sl +NH, +« NaOH
SbCl + Nay, CO, + H, 0 —— SbO(OH) + NaCl + CQ,
Ki;5,0; 4+ AlLO, = AL(SO;), + K, 80,

Mg; Si0; + H; O —— H.Si0. + MB(OH):

AS;O) + HC| ~—— AsCl, + H,0

C&;P; +H,0 —— CH(OH); + PH)

N&HCO: — NG;CO) +CO,+ H:0

510; + HF — H,SiF, + H.0

POCI; 4+ H; 0 = H; PO, + HCI

Sb:Ss + OH™ = SbSi” +Sb0O;™ + H;0

Sb2S; + H* + CF ——> (ShCL ] + H,$

Bil; + H:O —— BiOI+H' + "



